AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable FEDER	box) AL CANDIDA	TE	□ STATE	/LOCAL CA	NDIDATE
	il Themselve v, Federal Car				
Station and WKEZ-FI	Location: M Tavernier, Fl	-		Date:	ember 14, 2023
being/on behalf of qualified candidate party for the officient the election to be here.	of: ate of the ce of: eld on: est station time as f				, a legally political
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
Total Charg	jes:				

national importance," list the n	natters below:	ng to any political matter of
I represent that the payment for	or the above described broadcast time has bee	n furnished by:
-	ounce the time as paid for by such person or e entity is either a legally qualified candidate or legally qualified candidate.	•
The name of the treasurer of th	ne candidate's authorized committee is:	
	e its political advertising policies, including: other sales practices (not applicable to federa	
To Be Signed	l By Candidate or Authorize	d Committee
Date	Signature	
То Ве	Signed By Station Represen	tative
☐ Accepted	☐ Accepted in Part	Rejected
A Weyer Signature	Printed Name	Title
• •		

CANDIDATE CERTIFICATION

In Order For Federal Candidates to Receive The Lowest Unit Charge During a Political Window, the Following Certification is Required:

		r authorized committee) her in part) pursuant to this agre	eby certify that the programming eement:
	\Box does	☐ does not	
		te (check applicable box). I to an opposing candidate:	further certify that for the
(chec	ek applicable box)		
		e, the office being sought, ar	statement by the candidate that nd that the candidate has
	image of the candidate displayed printed stater	for a duration of at least for ment identifying the candidate.	ntifiable photograph or similar our seconds, and a simultaneously ate, that the candidate approved andidate's authorized committee
	signa	nture of candidate or authorized	committee
-	nrin	ited name	date

AGREED UPON SCHEDULE

(TO BE FILLED IN ONLY IF STATION DOES NOT ACCEPT ALL OF CANDIDATE'S REQUEST)

Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks

Total Charges:			
Total Charges:			

AFTER AIRING OF BROADCASTS:

Attach invoices or Schedule Run Summary to this Form showing:

- (1) actual air time and charges for each spot;
- (2) the date(s), exact time(s) and reason(s) for Make-Good(s), if any; and
- (3) the amount of rebates given (identify exact date, time, class of broadcast and dollar amount for each rebate), if any.

Note: Because the FCC requires that the political file contain the actual times the spots air, that information should be included in the file as soon as possible. If that information is only generated monthly, the file should include the name of a contact person who can provide the times that specific spots aired.



96.9&102.5 MAGNUM BROADCASTING, INC.

P.O. BOX 12 PORT MATILDA, PA 16870 814-272-1320

ROBERT QUIGLEY FOR PRESIDENT 142 WEBSTER ST NE WASHINGTON, DC 20007

Sign Here To Approve This Order

WKEZ-FM/WPIK-FM Order Confirmat

6564-011 OrderID:

Robert Quigley For President Robert Quigley For President Sponsor: Product:

Estimate/PO:

Diana Stapleford AccountRep: End-of-Schedule Billing Cycle:

Times/Rates Notarized Affidavit InvoiceType:

Accepted for WKEZ/WPIK

12/17/2023 - 1/16/2024 Run Dates:

Items Ordered: 744

Ordered Amount: \$9,996.00

Scheduled Station(s): WKEZ/WPIK Robert Quigley For President

1 21/17/2823 - 11/6/2024 Al Weeks 12:00 AM 01:00 AM 01:01 AM 01:0		Run Dates	Run Weeks	Run Times	Mon	Tue	Wed	Thu	Frl	Sat	Sun	Week Total	Length	Description	Avail Type	Copy ID	Qty	Item Cost	Total Cost
1 1 2 2 60 Spot R0 29 3 00 727 127 127 127 127 127 127 127 127 127	01		All Weeks	12:00 AM - 01:00 AM	1	1	1	1	1			5	-60	Snot		Section 1	22	5.00	110.00
3 16717283 - 11672024 All Weeks	02		All Weeks	12:00 AM - 01:00 AM				2	3	1	1								27.00
2 121772232 - 1162024 All Weeks	13		All Weeks	01:00 AM - 02:00 AM	1	1	1	1	1		19.56	5							
1217/2023 - 116/2024 Al Weeks	4									1	1	2							
1	5	12/17/2023 - 1/16/2024		02:00 AM - 03:00 AM	1	1	1	1	1	1196	Sign.	5							
3 21/7/2023 - 118/2024	6									1	1	2							27.00
10 17770232 - 11870204 AI Weeks	7				1	1	1	1	1		1000	5							
10 10 17 17 20 23 - 17 16 20 24 Al Weeks	8									1	1	2							27.00
1 1 1 1 2 60 Spot RO 9 3.00 27.	9				1	1	1	1	1			5							
2 10172823-1162824 All Weeks										1	1	2							
1 0 1/17/2023 1/16/2024 All Weeks	1				1	1	1	1	1			5							
12 17 17 17 17 18 18 18 18	2									1	1	2							
1 1 1 1 2 60 50 9 15.00 135.	3		The second secon		1	1	1	1	1			5							
10 177,023 178,023										1	1	2							
121772023 - 17672024 Newests 0.700 AM - 9800 AM 1 1 1 2 560 Spot 9 15.00 135.00					1	1	1	1	1			5							
2 21/7/2023 - 1/16/2024 All Weeks 08/30 AM - 99/30 AM 1 1 1 1 5 560 Spot 22 19.00 418.0 2 21/7/2023 - 1/16/2024 All Weeks 08/30 AM - 99/30 AM 1 1 1 1 5 560 Spot 9 15.00 135.0 2 21/7/2023 - 1/16/2024 All Weeks 08/30 AM - 99/30 AM 1 1 1 1 5 560 Spot 9 15.00 135.0 2 21/7/2023 - 1/16/2024 All Weeks 10.00 AM - 11.00 AM 1 1 1 1 5 560 Spot 9 15.00 135.0 2 21/7/2023 - 1/16/2024 All Weeks 10.00 AM - 11.00 AM 1 1 1 1 5 560 Spot 9 15.00 135.0 3 21/7/2023 - 1/16/2024 All Weeks 11.00 AM - 12.00 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 3 21/7/2023 - 1/16/2024 All Weeks 11.00 AM - 12.00 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 3 21/7/2023 - 1/16/2024 All Weeks 12.00 PM - 10.100 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 12.00 PM - 10.100 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 12.00 PM - 10.00 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 12.00 PM - 10.00 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 10.00 PM - 02.00 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 01.00 PM - 02.00 PM 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 02.00 PM - 03.00 PM 1 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 03.00 PM - 04.00 PM 1 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 03.00 PM - 04.00 PM 1 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 03.00 PM - 04.00 PM 1 1 1 1 1 5 560 Spot 9 15.00 135.0 4 21/7/2023 - 1/16/2024 All Weeks 03.00 PM - 04.00 PM 1 1 1	3									1	1	2							
1 2 1772023 - 1762024 All Weeks					1	1	1	1	1			5							
12 1772023 1762024 All Weeks 09:00 AM 10:00 AM 1 1 1 5 560 5pot 22 19:00 418:00 1772023 1762024 All Weeks 10:00 AM 11:00 AM 1 1 1 5 560 5pot 9 15:00 135:00 135:00 137203 1762024 All Weeks 10:00 AM 11:00 AM 1 1 1 5 560 5pot 9 15:00 135:00 135:00 137203 1762024 All Weeks 11:00 AM 12:00 PM 1 1 1 1 5 560 5pot 9 15:00 135:00	7.4					-3.10				1	1	2							
1 2 772023 7162024 All Weeks 10:00 AM 11:00 AM 1 1 1 2 60 Spot 22 19:00 418.00 3121772023 7162024 All Weeks 10:00 AM 11:00 AM 1 1 1 2 60 Spot 22 19:00 418.00 3121772023 7162024 All Weeks 11:00 AM 72:00 PM 1 1 1 2 60 Spot 22 19:00 418.00 41					1	1	1	1	1			5							
121772023 - 1716/2024 All Weeks 10:00 AM - 11:00 AM 1 1 1 5 5:60 Spot 9 15:00 13	1				000					1	1	2	:60	Spot					
1 21/17/2023 - 1/16/2024 All Weeks 11:00 AM - 12:00 PM 1 1 1 1 1 1 5 50 Spot 22 19:00 418:00 135:00 12/17/2023 - 1/16/2024 All Weeks 11:00 AM - 12:00 PM 1 1 1 1 1 1 5 50 Spot 22 19:00 418:00 135:00	2				1	1	1	1	1			5							
1217/2023 - 1716/2024 All Weeks 1:00 PM - 01:00 PM 1 1 1 1 1 1 5 :60 Spot 22 19:00 418:00 135	2				30.5%			3 75		1	1	2	:60	Spot					
121772023 - 171672024 All Weeks 12:00 PM - 01:00 PM 1 1 1 1 2 60 Spot 22 19:00 418:00 121772023 - 171672024 All Weeks 12:00 PM - 01:00 PM 1 1 1 1 2 60 Spot 22 19:00 418:00 121772023 - 171672024 All Weeks 01:00 PM - 02:00 PM 1 1 1 1 2 60 Spot 22 19:00 418:00 121772023 - 171672024 All Weeks 02:00 PM 03:00 PM	4				1	1	1	1	1			5	:60	Spot					
12177/2023 - 1716/2024 All Weeks 12:00 PM - 01:00 PM 1 1 1 1 5 60 Spot 9 15:00 135:00 135:00 137/7023 - 1716/2024 All Weeks 01:00 PM - 02:00 PM 1 1 1 1 5 60 Spot 9 15:00 135:00 135:00 135:00 137/7023 - 1716/2024 All Weeks 01:00 PM - 02:00 PM 1 1 1 1 5 60 Spot 22 19:00 418:00 12717/2023 - 1716/2024 All Weeks 02:00 PM - 03:00 PM 1 1 1 1 5 60 Spot 9 15:00 135:00 135:00 12717/2023 - 1716/2024 All Weeks 02:00 PM - 03:00 PM 1 1 1 1 5 60 Spot 9 15:00 135:00 135:00 12717/2023 - 1716/2024 All Weeks 03:00 PM - 04:00 PM 1 1 1 1 5 60 Spot 9 15:00 135:00	5				201	400				1	1	2							
7 12/17/2023 - 1/16/2024 All Weeks	6				1	1	1	1	1			5	:60	Spot					
3 12/17/2023 - 1/16/2024 All Weeks	7						6313	200		1	1	2							
9 12/17/2023 -1/16/2024 All Weeks	8						1	1	1			5					22		
12/17/2023 - 1/16/2024 All Weeks	9					35.51	35.53	75		1	1	2					The second		
1 12/17/2023 - 1/16/2024 All Weeks	0					1	1	16	21		31.55%	5					22		
2 12/17/2023 - 1/16/2024 All Weeks	1				1				-	1	1	2					9	15.00	135.00
3 12/17/2023 - 1/16/2024 All Weeks	2							2.3	1			5					22		418.00
4 12/17/2023 - 1/16/2024 All Weeks	3				1	1	1			1	1	2					9		135.00
5 12/17/2023 - 1/16/2024 All Weeks	4					2		1	3183	-	1000	5					22	19.00	418.00
5 12/17/2023 - 1/16/2024 All Weeks	5				1	1	1				1	2					9	15.00	135.00
7 12/17/2023 - 1/16/2024 All Weeks	6						32018	5,350	4.56			5					22	19.00	418.00
9 12/17/2023 - 1/16/2024 All Weeks	7				1	1	1	1	1	3 173	1	2						15.00	135.00
0 12/17/2023 - 1/16/2024 All Weeks	9					30		100	3.30	1		2						19.00	418.00
1 12/17/2023 - 1/16/2024 All Weeks	0				1	1	1	1	1			2						15.00	135.00
2 12/17/2023 - 1/16/2024 All Weeks 08:00 PM - 09:00 PM 1 1 1 1 1 1 5 :60 Spot 22 16:00 352:00 45:00 Spot 9 5:00 45:00 Spot 9 5:00 Spot 9 5:00 45:00 Spot 9 5:00 Spot 9 Spot	1									1	1	2						16.00	352.00
3 12/17/2023 - 1/16/2024 All Weeks	2				1	1	1	1	1	255	2	6						5.00	45.00
1 12/17/2023 - 1/16/2024 All Weeks	3	12/17/2023 - 1/16/2024								1	1	2						16.00	352.00
5 12/17/2023 - 1/16/2024 All Weeks					1	1	1	1	1			5							45.00
12/17/2023 - 1/16/2024 All Weeks 10:00 PM - 11:00 PM 1 1 1 1 1 5 :60 Spot 22 16:00 352:00 1 1 1 2 :60 Spot 9 5:00 45:00 352:00 1 1 1 2 :60 Spot 9 5:00 45:00 352:00 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			All Weeks			100	3,00			1	1	2							352.00
7 12/17/2023 - 1/16/2024 All Weeks 10:00 PM - 11:00 PM 1 1 1 1 2 :60 Spot 9 5.00 45.00 12/17/2023 - 1/16/2024 All Weeks 11:00 PM - 11:59 PM 1 1 1 1 1 5 :60 Spot 22 16.00 352.00 12/17/2023 - 1/16/2024 All Weeks 11:00 PM - 11:59 PM 1 1 1 2 :60 Spot 9 5.00 45.00 End-of-Schedule Projected Billing: Oct-23 0.00 Nov-23 0.00 Dec-23 0.00 Q4-2023	6		All Weeks		1	1	1	1	1			5							45.00
12/17/2023 - 1/16/2024 All Weeks 11:00 PM - 11:59 PM 1 1 1 1 1 5 :60 Spot 22 16:00 352:00 12/17/2023 - 1/16/2024 All Weeks 11:00 PM - 11:59 PM 1 1 1 2 :60 Spot 9 5:00 45:00 End-of-Schedule Projected Billing: Oct-23 0.00 Nov-23 0.00 Dec-23 0.00 Q4-2023 0.00 Q4-2023	7		All Weeks				62.73	3		1	1	2							352.00
End-of-Schedule Projected Billing: Oct-23 Jan-24 Q 996 00 Feb 24 Oct-23 Oct-23 Oct-23 Oct-24 Oct-24 Oct-24 Oct-24 Oct-25 Oct-25 Oct-26 Oct-27					1	1	1	1	1		200	5							45.00
Oct-23 0.00 Nov-23 0.00 Dec-23 0.00 Q4-2023 0	9	12/17/2023 - 1/16/2024	All Weeks	11:00 PM - 11:59 PM						1	1	2							352.00
Oct-23 0.00 Nov-23 0.00 Dec-23 0.00 Q4-2023	3	End-of-Schedule Pr	ojected Billin	0:		THE S			70.1		568	-	.00 .	эрог		7712.32	9	5.00	45.00
Jan-24 9 996 00 Feb 24 0.00 Dec-23 0.00 Q4-2023					22				00										
														0.0	00	Q4	-2023		0.0